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AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
403 XX SHHS K20 & 372,000 454,000 A 82,000
01 AIXISHHMA=Z2E X 372,000 454,000 A 82,000

A &Y X SAS 300,000
O T4 X 72,000
HYHAIRXZ LA F=A 297,800 246,800 51,000
201 et d| 159,000 27,000 132,000
01 AR 22l ] 146,000 12,000 134,000
Ogsr=2y| 144,000
OFAMTEANLANELANEROS 10,000
Ol =y EY 119,000
ONYYsIIIILZSSIHEMHS 15,000
Oosgx¢ 2,000
OUZ3| o & A4 2,000
03 A2 EH| 13,000 15,000 A 2,000
OAMHAH=S S E I 13,000
203 ¥ 2 =X 4,800 4,800 0]
03 AIZH =& 2 F X H| 4,800 4,800 0
OYBAIMEAER=Z 4,800
308 XHXIGH SO0l & 134,000 215,000 A 81,000
01 AIKISHHENMNEXZ 134,000 135,000 A 1,000
[Jol At M AT XA KR 14,000
OHAHSEHGE2A2UZALAS2H 120,000
ChsSAEQIAIIEX 322,500 322,500 0
Xl 300,000
= 22,500
403 XX SHS K201 & 322,500 322,500 0
Xl 300,000
= 22,500
01 XIS A2 X 322,500 322,500 0
OO=2HEAAINEX (KNS EHl) 322,500
N 300,000
= 22,500
HMegeLSI|2EH EHEX WA XS 546,000 468,000 78,000
= 420,000
& 126,000
403 XSS K =0l & 546,000 468,000 78.000
= 420,000
= 126,000
01 XIS A=Z2E X 546,000 468,000 78,000
O I)2EH &8 XA K& 546,000
= 420,000
== 126,000
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AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
HEESLEDSE X D H X & 15,600 0 15,600
= 12,000
& 3,600
403 XX SHHS K201 & 15,600 0 15,600
= 12,000
= 3,600
01 XIS AS2E X 15,600 0 15,600
OESLEbSE X W H X & 15,600
= 12,000
=} 3,600
MEHEAHFPAHAS 2,765,000 3,118,243 A 353,243
= 2,450,000
& 315,000
403 XX SHHS K20 & 2,765,000 3,118,243 A 353,243
2 2,450,000
& 315,000
01 XIS A2E X 2,765,000 3,118,243 A 353,243
OMEBHAEAHFZAEAS 2,765,000
= 2,450,000
o= 315,000
AZ2HHYEREXZA (A0 1,238,400 1,632,000 A 393,600
= 1,152,000
=} 86,400
403 XX S M S K201 A 1,238,400 1,632,000 A 393,600
= 1,152,000
= 86,400
01 IS A2E X 1,238,400 1,548,000 A 309,600
OHHHER2EXTH 1,238,400
= 1,152,000
& 86,400
HOF &S ALEH = AL 84,000 0 84,000
= 42,000
= 42,000
403 XX SHHS K20 & 84,000 0 84,000
= 42,000
& 42,000
02 BSOS E S AFEHI 84,000 0 84,000
[JHOFY & A EH &= AF 84,000
= 42,000
& 42,000
HEHLNATHHN B A RS 2RI 690,000 690,000 0
308 XAHXIGHH SO0l & 690,000 690,000 0
01 RXEBHMBARES 690,000 690,000 0
Josd ()22 X4 690,000
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CRAN I E(BH) - HRANY - BES e bl D=2t
01 HXSHMA2E X 90,000 0 90,000
Oo&d=clAEH| 90,000
HEXNEZHHE ,000,000 0 1,000,000
403 MtXISHHE X201 & ,000,000 0 1,000,000
01 XM A=2EE ,000,000 0 1,000,000
OogXNEdAdE ,000,000
HAMDAESRAHLEXR 30,000 0 30,000
308 XX EHH SOl A 30,000 0 30,000
01 IXNHHBAMNEES 30,000 0 30,000
OoltMDPE=sAAHLEX A 30,000
Eogago o= , 158,260 15,871,460 A 1,713,200
= 43,200
Xl ,502,000
< 7,613,060
oHetAald 5,145,200 6,253,000 A 1,107,800
403 A X EHHSH20IA 5,145,200 6,253,000 A 1,107,800
01 XM A= LE L 5,145,200 6,253,000 A 1,107,800
OXgoHeAld 2,415,200
Oarg20 A4 2,256,000
OXNgAHS AR R 22 X~ 264,000
O2E A X 180,000
OENtSetE2eAIE XA 30,000
off 2 &td K A 600,000 900,000 A 300,000
401 Al& I 28I 600,000 900,000 300,000
01 A& HI 600,000 900,000 300,000
OXgogisdeddaszdaeEZ il 600,000
HEHS2Z Zet2EF2 22,800 22,800 0
201 L2l 5,500 5,500 0
01 At 2t 2l 5,500 5,500 0
O=gl 5,500
OHENE2ZUEIRA=HRFA G A 5,500
202 Odl 17,300 17,300 0
01 =S LHA YI 17,300 17,300 0
OEHS2Z T R=EHRFAN 17,300
AgoeAas 3,250,000 3,525,000 A 275,000
Xl 2,600,000
< 650,000
401 Al Bl 28I 3,250,000 3,525,000 A 275,000
X 2,600,000
< 650,000
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A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
01 A& HI 3,221,000 3,500,000 A 279,000
OXNgogAd (NS cHl) 3,221,000
Xl 2,577,000
< 644,000
03 Al S THHI 29,000 25,000 4,000
OXNSHEALL2UHI (RISZHI) 29,000
Xl 23,000
< 6,000
QIS EAIE 4,023,750 4,375,000 A 351,250
X 3,219,000
< 804,750
401 Al HI K 201 I 4,023,750 4,375,000 A 351,250
Xl 3,219,000
< 804,750
01 A& HI 3,987,750 4,345,000 A 357,250
OB =AE(XSEHI) 3,987,750
Xl 3,190,200
< 797,550
03 Al 2 THHI 36,000 30,000 6,000
OASHE=AEL2UHI(RISZHI) 36,000
Xl 28,800
< 7,200
O=01&2el 603,750 437,500 166,250
Xl 483,000
< 120,750
403 MHXSHHSA=0l& 603,750 437,500 166,250
Xl 483,000
< 120,750
02 S 2S0ICHe A =X OH & Ar H 603,750 437,500 166,250
god=o&2e(XNschl) 603,750
Xl 483,000
< 120,750
HEMEEOI=XA 56,160 56,160 0
= 43,200
< 12,960
308 XXM SOl A 56,160 56,160 0
= 43,200
< 12,960
01 IXNSHHBNEES 56,160 56,160 0
OOHEME I SMREHEXA 56,160
= 43,200
< 12,960
HOHHICIS H (SR F X H) 100,000 200,000 2100, 000
403 XSS X201 & 100,000 200,000 100,000
01 AXSHHMA2E = 100,000 200,000 100,000




AR YN SA YA
HE: Mo YMeY s
S9l: ENEBBODARE (B9 ®R)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 gﬁ‘&i HR=2
OootH 22X S 100,000
HE22E S 96,600 102,000 AN5,400
308 XAXISHHMSOIA 9,600 15,000 A5,400
01 AIKISHHENEXZ 9,600 15,000 A5,400
OYUOIEAMZTAZMNETLZAH 9,600
403 XX SRS K20 & 87,000 87,000 0
01 MXSHAHXNE2EE X 87,000 87,000 0
OJoEdsiotis s 45,000
OENEossd 42,000
HYL MRS 260,000 0 260,000
N 200,000
& 60,000
403 XX SHHS K20l & 260,000 0 260,000
N 200,000
& 60,000
01 MXHHXE2E =X 260,000 0 260,000
O pE2stdEHHAE (NESH]) 260,000
Xl 200,000
& 60,000
XGOS AS 7,925,500 6,642,600 1,282,900
= 3,326,000
Xl 1,308,000
& 3,291,500
ANMEIN K ES 176,000 176,000 0]
403 XX ESHHS K20 A 176,000 176,000 0
01 XS A2E X 176,000 176,000 0
OHHAAMAHXINXNHEBS 136,000
OWsHI)IA 22 40,000
2= A THOH CHE| 2 3 A A X & 65,200 65,200 0
403 XX SHHS K 20| & 65,200 65,200 0
01 MXHHE2E =X 65,200 65,200 0
JZ=ATHOH CHH| X 3 AFA X 65,200
WEHHEZAIE 60,000 60,000 0
403 XX S M S K201 & 60,000 60,000 0
01 XIS A2E X 60,000 60,000 0
OW=HHHEZAIA 60,000
PSP ;| == TR =1y N M 50,000 60,000 A 10,000
403 XX SHHS K20 & 50,000 60,000 A 10,000
01 XIS A2E X 50,000 60,000 A 10,000
[RESEN ===l ]| 50,000
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B EEEEIE (B9 ®R)
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AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
HAOIGH Z A XA 400,000 400,000 0
403 XX SHS K20 & 400,000 400,000 0
01 XIS AS2E X 400,000 400,000 0
[JHQOH Z& XA 400,000
HEHASSUIIBIXRH 829,000 884,000 A 55,000
308 XX EHSOIA 95,000 100,000 A5,000
01 AIKISHHEMNEX= 95,000 100,000 A5,000
OJSA~AZTHHEE S KR 95,000
403 XX SRS R 20| & 734,000 784,000 A 50,000
01 AXESHHIE2E X 734,000 784,000 A 50,000
02 & 2HHH &I 150,000
O M P2 H ALY 84,000
O3MEESHLZAIS 450,000
OXAHBSHUXH 50,000
SHARNIEHUSHSGASEFTA 93,500 93,500 0
201 LBt 7,300 7,300 0
01 AP 22| H| 7,300 7,300 0
Ogeds¢ 1,300
OCZENHZEOYSI SR/ AL = 1,300
2 &H| 6,000
O ARSI EUIUZ2ESASE LR TR Z A 6,000
202 o4 | 16,200 16,200 0
01 2L I 16,200 16,200 0
OStF XS HEBIOSHESGATSE L= 0| 16,200
301 et A= 70,000 70,000 0
01 Al E& A 462 70,000 70,000 0
O&+HgoX ZH X & 70,000
SAMSAHAL|HAZZ 70,000 70,000 0
= 70,000
403 XX SRS K20 & 70,000 70,000 0
2 70,000
01 X SAX=EE 70,000 70,000 0
OadMSRg R MBS 70,000
= 70,000
= MSXHY 2= 774,000 770,000 4,000
Xl 720,000
& 54,000
403 XX SHHS K201 & 774,000 770,000 4,000
N 720,000
= 54,000




AR YN SA YA
g g3 Y=t
B EEEEIE (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
01 HXSHMA2E X 774,000 770,000 4,000
O==&SHHYER(XNSEH) 774,000
Xl 720,000
< 54,000
HEHAXRE22SSHAA 1,388,800 1,004,400 384,400
= 1,120,000
< 268,800
403 MHXISHE X201 & 1,388,800 1,004,400 384,400
= 1,120,000
< 268,800
01 X SHHN2E = 1,388,800 1,004,400 384,400
Oogiats2el SSHAA 1,388,800
= 1,120,000
= 268,800
F=MSTHLEFS WA 110,000 87,500 22,500
Xl 88,000
< 22,000
403 A X EHHSH20IA 110,000 87,500 22,500
Xl 88,000
< 22,000
02 I 2S0ICHet A =X OH & Ar H 110,000 87,500 22,500
O+MNBSUHESSUHEAN(KNSEH]) 110,000
Xl 88,000
= 22,000
HEAHRES ALY 78,000 91,000 A 13,000
= 60,000
< 18,000
403 XIS S K =0l & 78,000 91,000 A 13,000
2 60,000
< 18,000
01 X SHMA=2EE 78,000 91,000 A 13,000
ST EEESAEY 78,000
= 60,000
< 18,000
SOl Ot &t XAl At = A 650,000 650,000 0
Xl 500,000
< 150,000
403 UHXISHHE X201 H 650,000 650,000 0
Xl 500,000
< 150,000
01 AXSHHMA2E = 650,000 650,000 0
Osoiotol ar Al prE M (XIS EHI) 650,000
Xl 500,000
= 150,000
1 oH 44 2 7 X AL 306,000 606,000 300,000
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B EEEEIE (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
= 306,000
308 XXM SO A 306,000 606,000 A 300,000
= 306,000
01 HIXNHHBNEES 306,000 606,000 A 300,000
O ES2HAIS (R X) 306,000
= 306,000
F S M=K XA SHAHY 1,170,000 780,000 390,000
= 900,000
< 270,000
403 XIS E X201 & 1,170,000 780,000 390,000
= 900,000
< 270,000
01 X SHHA2E = 1,170,000 780,000 390,000
OS5 d==XIXtHE stAL 1,170,000
= 900,000
= 270,000
SHUAXRISAML (S IHEEIH) 200,000 240,000 A 40,000
403 A X EHHSH20IA 200,000 240,000 A 40,000
01 X EHHMA=ZLE L 200,000 240,000 A 40,000
OSHUHAXR S =S A 200,000
H=2UHLH 232 30,000 60,000 A 30,000
403 XSS =0l & 30,000 60,000 /30,000
01 X SHMA2E X 30,000 60,000 A 30,000
OX=3UHIbiCGH =22 30,000
EgdouuieEsdss2el 627,000 385,000 242,000
= 570,000
< 57,000
403 MRS E X201 E 627,000 385,000 242,000
= 570,000
< 57,000
01 X SHHA2E = 627,000 385,000 242,000
OWUXNEZAE(SIEEZ)AY 627,000
= 570,000
< 57,000
HEtdeAEsdEAY 390,000 0 390,000
= 300,000
< 90,000
403 A X EHHS =0l A 390,000 0 390,000
= 300,000
< 90,000
01 X EHHMAZLE L 390,000 0 390,000
OB HECH0 QB LA 390,000
= 300,000
< 90,000
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SAFAEE LS AL 158,000 0 158,000

403 UHXISHHSA=0l& 158,000 0 158,000

01 XM= E L 158,000 0 158,000
OSAFALDSEUSAS 158,000

SHUAMEHSHSAIHEH 300,000 0 300,000

403 XSS A=0l& 300,000 0 300,000

01 XM A2E X 300,000 0 300,000
OSoHMEHSHSAHEEA 300,000

MEst=MEE S 7,655,430 11,650,457 A 3,995,027
= 130,000
Xl 3,592,000
=) 3,933,430

A RS EOLEHI KA 20,000 20,000 0

307 glz2+ol & 20,000 20,000 0

02 YAFLAANGEEX 20,000 20,000 0
Ot g Z Ot X2 20,000

=HERSHA 710,800 636,800 74,000

403 XSS A=0l & 710,800 636,800 74,000

01 X SHHX2E= 710,800 636,800 74,000
O==MSEHENLELARAZIIXA 320,000
O==&SHeA MEANEXR 205,800
OXNSSE&=MSIHISAIEAS 72,000
O+==2ZZ M 50,000
OFdsH#X2 63,000

ANA St 2 AHEA 100,800 100,800 0

308 MtXIEHSOIH 100,800 100,800 0

01 X HHILEES 100,800 100,800 0
OXNSEEst=aMSAHEH 100,800

0SS AIE 2101 2 A 22l (HACCP) 8 HI XI & 80,000 100,000 A20,000

403 Mt SHHSA=0l& 80,000 100,000 220,000

01 HXSHMA=LE X 80,000 100,000 A20,000
Ox=A20tS A E 2ol 2 4 22l (HACCP) &I X & 80,000

=40 g AR 43,000 43,000 0

308 XXM SO A 43,000 43,000 0

08 WEIIZ20HStE = 43,000 43,000 0
OXE =& g A H X 43,000

HEEHNTF=SHXR 100,000 100,000 0

308 XtXIEHH SOl A 100,000 100,000 0
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CRN I S(EH) - MRAY - BYS 0] &k o4 e HlDE2
01 HIXNHHNBHNEES 100,000 100,000 0
OddEBENER=SHXA 100,000
HgERIHXH 507,000 507,000 0
308 XXM SOIA 507,000 507,000 0
01 AXHHBILEES 507,000 507,000 0
oogEesss8lxa 507,000
LENRLASHAE2SH KR 14,700 14,700 0
308 MtXIEHMSOIH 14,700 14,700 0
01 AXHHILEES 14,700 14,700 0
OB SHA2EH XA 14,700
HEMS2sHs 33,000 23,000 10,000
308 A EHHSOIA 33,000 23,000 10,000
01 HXNHHNBHEELES 33,000 23,000 10,000
OoEds=23tAs 33,000
HAHEIHEE2AS XA 10,000 10,000 0
307 g1zl & 10,000 10,000 0
02 LIt MAHEE 10,000 10,000 0
OcHAHHEE A X 10,000
ol =23 67,830 66,557 1,273
308 XtXIEHH SOl A 67,830 66,557 1,273
01 AXHHILEES 67,830 66,557 1,273
O=&d2XNES 56,910
ORsHgeloiel = 10,920
Mt EESF 21,700 21,700 0
201 L4l 5,500 5,500 0
01 At 2t 2l 5,500 5,500 0
O=&l 5,500
Ouldet=ttE3aF sS4 5,500
202 O4dl 16,200 16,200 0
01 = LH 4 Hi 16,200 16,200 0
Od et ESSERFEAI 16,200
=S XIS AIE 3,263,000 2,730,000 533,000
Xl 2,510,000
< 753,000
403 MtXISHHE A0l & 3,263,000 2,730,000 533,000
Xl 2,510,000
< 753,000
01 X SHHA=2E = 3,263,000 2,730,000 533,000
O8NS AE (RISEHI) 3,263,000
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Al 2,510,000
< 753,000
F=MHELS D WAL 130,000 120,000 10,000
= 130,000
308 AHXIEHHSOIA 130,000 120,000 10,000
= 130,000
08 WSII20HetE = 130,000 120,000 10,000
O==&ASEL3 DX AL 130,000
= 130,000
Jlsdt=282X& 25,000 35,000 A 10,000
307 glz2+ol & 25,000 35,000 A 10,000
04 QIZFHALAIH E = 25,000 35,000 A 10,000
Dsd=d=s2XE 25,000
AT LA X 175,000 73,000 102,000
307 21201 A 175,000 73,000 102,000
03 HAHMEHE2LHIES 35,000 0 35,000
O P AG A 2FH X 35,000
04 DIZHHALALSE E X 140,000 38,000 102,000
O=MPBSAZUE 140,000
E3ME 151,000 151,000 0
308 XXM SOl A 151,000 151,000 0
01 IXNHHBNEES 151,000 151,000 0
DA ESZEHH AL 100,000
O0EHSSB3EH 51,000
AL =A2IHINR 30,000 30,000 0
308 XX EHSOIA 30,000 30,000 0
01 HIXNHHNBHEES 30,000 30,000 0
AU =A2IHIXNR 30,000
SAEXAMEAE 496,600 1,453,000 A 956,400
Xl 382,000
< 114,600
403 MtXSHHE =01 & 496,600 1,453,000 A 956,400
Xl 382,000
< 114,600
01 XM A=2E X 496,600 1,453,000 A 956,400
OS2 MEALE(XRSZHI) 496,600
Xl 382,000
< 114,600
ANAMe=MAFTAASH 236,000 0 236,000
Xl 200,000
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201 et 21,000 21,000 0
01 At 22l 14,000 14,000 0
Opt=2Hl 10,000
ONERAIMNEEEFRLS 10,000
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N Rk SH AT
M HIOSESFERIIAS
Sl AARREY CERED
AR 2N EH O () - MBEAY - BAS 0 AF o il HZS2
OR&ENEA 10,000
(@)= ol yell 5,000
301 dEtEAZ 1,400 1,400 0
09 HALAHIEA S 1,400 1,400 0
OxAERELUIE 2 S=4HI 1,400
405 XH&HF S HI 40,000 41,000 A 1,000
01 AL 2 EF SHI 40,000 41,000 A 1,000
st 80| M S 2 S+ & 20,000
oZssogd+e 20,000
MAD|BEA| & S 855,000 1,031,000 A 176,000
201 Bt A | 100,000 100,000 0
02 3524l 100,000 100,000 0
A& & HI S Xl H] 100,000
OANEARAIE S A 22 100,000
401 Al HIL 200 755,000 931,000 A 176,000
01 A& HI 755,000 931,000 A 176,000
OFc-2=FUol =S A A S B 30,000
OXNdxE8skSLHMSA 725,000
ANEARHSHY 125,000 207,000 82,000
201 LEt2 Y| 18,000 20,000 A 2,000
01 AFR2t2l bl 10,000 10,000 0
O get==H| 10,000
OANEAHAREDNHLANOIUHEERZ RO 10,000
03 A2 H H 8,000 10,000 A 2,000
OSHSEMAAN S S AL S A OILINE 8,000
202 (48] 15,000 15,000 0
01 2L Y| 15,000 15,000 0
O==&3AHLF=X0 I 15,000
206 M= Hl 30,000 40,000 A 10,000
01 X2 bl 30,000 40,000 A 10,000
OAMEHRHSHL A ESEFRLY 30,000
207 A O 4| 60,000 60,000 0
03 A& 2| 60,000 60,000 0
OMEEANEAT 30,000
ONEEAH0I 7 15,000
OY0l M= 9,000
OXHAI=EHIEAZ 5,000
OUZLI AN 2L 1,000
OOSoHOtIIXIOI B AIEH R 30,000
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ESEy==pn el 2,000

Stoll & 01 R &4 &F 220,000 218,000 2,000
Xl 176,000
= 44,000

101 @124l 20,000 20,000 0
Xl 16,000
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< 6,000
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X 8,000
< 2,000
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< 2,000

01 = LH 4 Hi 10,000 10,000 0
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< 2,000
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< 12,000
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< 17,000
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Xl 68,000
< 17,000

301 et a =z 5,000 8,000 A 3,000
Xl 4,000
< 1,000

09 &AL HI B &S 5,000 8,000 A 3,000
O0SZAI=230 A nEs AU (XISZHI) 5,000
Xl 4,000
= 1,000
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< 16,000

101 1A Hl 10,000 10,000 0
Xl 8,000
< 2,000

04 JIZHHZ2XREE S 10,000 10,000 0
OSIIN0IRSSEEES AR Y (NSZHI) 10,000
Xl 8,000
< 2,000

201 Let24E] 10,000 20,000 A 10,000
Xl 8,000
< 2,000

01 At 22l I 10,000 10,000 0
pt=2Hl 10,000
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OsdItMH0I S EEES (NS ZH) 33,000
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307 21201 A 20,000 20,000 0
Xl 16,000
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4324 BH . GH(3AH) - KR - BLS of 4 o4 il HI RS2

307 glztol & 45,000 40,000 5,000
05 22t & =2 45,000 40,000 5,000

OaMnsgLEY 30,000

Oamgaacsy 15,000
401 AIEHIZ 2 0HHI 250,000 180,000 70,000
01 A€ dl 250,000 180,000 70,000

OZelAURe 2 S A 100,000

OFALE 2 WA S A 150,000
HY2IZH (A4 ARL) 1,568,564 1,549,676 18,888
el=l 2l 1,424,491 1,367,976 56,515
el 2l 1,424,491 1,367,976 56,515
101 @l H] 1,392,331 1,335,816 56,515
01 2= 991,267 940,712 50,555

oJ=s 729,972

(@):R=P\[ 154,363

- 45 81,859,000& 1 81,859

- 72,504,000& 1 72,504

Oz =AM 520,697

-6=(1628) 3,176,100 x3E «12& 114,340

-73(1588) 2,808,300 x3& 128 101,099

-82(958) 2,122,300 x5E «12& 127,338

-92(588) 1,623,000 x 1 x 128 19,476

- AR AH20E ) 3,300,900 «4E «12& 168,444

odz=2=+¢ 520,697,000& *1/12 43,392

Odz2=+gitts 11,520

- 258014 130,000 x1& x12& 1,560

- 208 0] & ~25E 012 110,000& =2 123 2,640

- 158 0] & ~20= 0] 2t 80,0003 x2H 123 1,920

- 10501 &~154 0] et 60,0003 x5 123 3,600

- 530l &~104 0] 2t 50,0002 x3H 123 1,800

O=¢ 150,504

OAltelZ22+g 112,803

-gN2 10,6822 x10Al 2tx 16 « 12 20,510

- 2= 10,6823 »45A| 2+ 16E 123 92,293

ONs=¢ 17,400

- 40,000 x17&8 =122 8,160

- JIEHS 20,0003 *33H 12 7,920

AR 30,000 x 1~ 12& 360

-ttt s 80,0002 x1&H *12& 960

OXtdstHIBEx+Y 3,712




ST R SH L AATIRARA
HHSAYH (ST ARL)
el 2l (&)
2 2A B E(AN) - MEAY - BYS Ol &k o8 il HlnE2
-nsSshy 463,990 x2H x4 3| 3,712
OfIgZ2f+% 1,080
-22 50,0003 x1H 128 600
-85 40,0003 x 18 +128 480
OREsRI+Y 50,000 x 18 128 600
Ole3sRE=+E 6,509
-52U=R 3,307, 100& *4 . 1%*4H » 128 6,509
OS+g28 8,400
-JlsdE2Y 3,600
- 62,72 30,000 »4H » 128 1,440
- 8= 20,0003 x»4H 128 960
JH&EZ (D1 AL) 30,000 x2H 128 720
JHAEZ2 (AFIDTAE) 20,0003 18+ 122 240
I3 (2EE) 20,0003 x 18 123 240
-HPURE 4,800
s 80,000& x5H 128 4,800
O HZ A 130,000& = 18H »12& 28,080
OYE F Oty 520,697,000% *1/12x60%*23l 52,070
OHIE 4]
675,060,000 *1/12%86%*1/30% 19 30,641
03 RIAHAZZ2TE = 401,064 395,104 5,960
oy aelE8x 53,163
OJles 1,994,300 x1H «12& 23,932
Oo&n= 1,994, 3003 » 1 x400% 7,978
OAR=E 1,994,300& /209+8*25& 1,909
o254 2,472
- 104 0l &f
((10E%14,000% )+( (16 -10 )= 11,000 2,472
)*122
ONs=g 480
- B Xt 40,0003 x 1«12 480
(OFNE=3- N 60,000 x1H 128 720
OZEFOtHI 700,000 1 »23] 1,400
O&FHZ Al 130,000 x1H + 123 1,560
OANZZRE
9,543 *1 5% 10AI 2hx1H 123 1,718
OE2*Rs+Y
9,5433 1. 5+8Al 2tx1H x4 » 12 5,497
Os¢e2x=2sE
9,5433 1. 5+8A 2tx1H x4 » 128 5,497
OSR[YUMEXS 302,581
OJdles 1,392,760 x8H x12& 133,705
O&0= 1,392,760 & x8H x400% 44,569
OHxt=< 1,392, 760% /209%8*8H x 15 6,398
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AR .24 BB OEH) - NEAY - BAS 0 Ak o8 ﬁlf& HDS2
ozas+¢ 9,456
- 104 0| 8 5E 14 ,000& 128 x6H 5,040
- 104 0] &
((10E %14,000 )+( (14 -104 )*11,000& 4,416
))x 122 20
OiEsx=Y 6,000
- B 2 Xt 40,000 x8H x12& 3,840
- JIEHHS 20,000& x9H x12& 2,160
OXNESHHIE X4 500,000& *x1H 43| 2,000
OunsE x| 60,0002 *8H x12& 5,760
OY ZE =t 700,000& x8Y x23| 11,200
OdMZAY| 130,000 *8H x12& 12,480
OAZtA2ZREY
6,664 x1.5x10A 2t *x8 x12& 9,597
o224y
6,6643 x1.5%8A| 2+ *8H 42 x12& 30,708
Oz
6,6643 x1.5%8A| 2+ *8H 42 x12& 30,708
O o=yl 1,800
O0HSYSLEE =Y 11,520
CO5tHAE 28 32,000
204 &R = A Y| 32,160 32,160 0
02 8z 8 x4 32,160 32,160 0
4= 400,000 x1H x12& 4,800
= 250,000& x1H x12& 3,000
062, A2 AL 155,000& *7H x12& 13,020
O7=2 140,000 *3H »12& 5,040
82~9=2 105,000& x5 128 6,300
Jl=23tl 144,073 181,700 N37,627
DR ]l 144,073 181,700 N37,627
201 2Bt Ay 105,093 111,720 16,627
01 At 22l bl 102,093 108,720 NG ,627
Oeet=sH| 35,949
OFXI|LHUYR= 2,400
OEESIESLOHHHE S M & 14,000
(O PIPIE=Eal:] 10,000
OMBEEARESFY 9,549
OJsg+¢ 53,020
OYd=2a| 53,020
o=l 1,700
O2RA&ES = 1,700
O 2l 11,424
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